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=Year 11                    =Probability                    =Worksheet 3
	1. What is the probability of getting a total of 7 when two fair dice are thrown?


	2. What is the probability of getting two tails when five fair coins are tossed?

    

	3. What is the probability that x and y are adjacent when the letters of the alphabet are written in random order?


	4. What is the probability that four cards dealt at random from an ordinary deck of 52 cards will contain one card from each suit?



	5. What is the probability that five cards dealt at random from an ordinary deck of 52 cards will contain at least one card from each suit?


	6. Given a random experiment with events S and T such that 
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	7. Drug A causes an allergic reaction in 2.5% of patients, drug B in 1.5%, while 0.5% are allergic to both. Estimate the probability that a patient is (a) allergic to B but not to A, 
(b) not allergic to either.

	8. 1000 people were interviewed. Of these people, 415 read the Herald Sun regularly, 280 read the Age regularly, while 360 read neither regularly. Estimate the probability that, if a person is chosen at random, the person reads (a) both newspapers,

(b) either one or both.



	9. Refer to Q8. What is the probability that, given the person is a Herald Sun reader, he/she is also an Age reader?


	10. 15% of patients on which a certain heart operation is performed die during the operation. Of those that survive, 12% die from the after-effects. Find the probability that a patient dies as a result of the operation or the after-effects.



	11. A house has two independent smoke detectors, each has a reliability of 99%. Find the probability that at least one detector operates in a fire emergency.


	Numerical, algebraic and worded answers.
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1.  1/6


2.  5/16


3.  1/13


4.  0.1055


5.  0.2637


6.  0.5, 0.9, 0.8, 0.8


7.  0.01, 0.965


8.  0.055, 0.64


9.  0.133


10. 0.252


11. 0.9999
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